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CHM 151 e 25 Pts Spring 2019 Name: __ ~- ~----------

Show All Work To Receive Credit! Conversion factors and prefixes: 

G = 109, M = 106, k = 103, c = 10-2, m = 10-3, µ = 10-6, n = 10-9 p = 10-12 , 2.54 cm= 1 in, 1 km= 0.6215 mi, 
12 in = 1 ft, 5280 ft= 1 mile, 3 feet= 1 yd, 60 sec = 1 min, 1 hr= 60 min, 4 quarts = 1 gal, 2 pints = 1 quart 

1. (9 Pts) Perform each of the following conversions. You must show the complete setup. 

a. Convert 437 kg to Gg. 
3 

G 
4'57 X'}--: J JD I -G 

4'37 X/D 
-- /_fr /o? 

b. Convert 333 µL to nL - G I ?, 3 3 3 X I s n L 
333,,u.LI /0 - ri - -= 333-.,.10 V'IL d1- • 

µ. I o-'1 
C. Convert15miles/hrtokmperminute. ~ . _/ \ ,o-:;__L.Jk 111<- - o'.__....--:-4ri""I ~ . 

15 (!:IX(,/ 5:l.'<IJ4 /-;)_~, .... '5'f .,,m-, - - , - - : ~ - y Jy:,<:. ,y / 1 · ;z Tio- , 0,...... 

2. (6 Pts) Assume each of following numbers are measurements. Perform the indicated operations 
and then report the answer with the proper number of significant figures . 

OM.~ p.lc..tt 
if - ,101s-= b/l 

a. 402.1 cm + 83 cm + 125.65 cm = - .. cm 

rL 3 c;,r f,,, 
b. 10.5 cm x 12.10 cm x 18.145 cm= ;;;l_ 3 l O cm3 

-----------
i ~ +- 5kp 
-;i,.3,7 ~~ = ~' q~9 -
-,i - (13. 3 X ?,._. 55) -

I C.J 7 

(23.7 + 78) 
C. = 

l 3.3x2.55) 

3. (5 Pts) A sign measures 188 inches by 55 inches. Determine its area in square cm {cm2) (you 
may ignore significant figures). -

5 5 ,¼I d--;l':!.!:::"' _./bf 7 D 'I , i;; ,., L/ 

5. (5 Pts) A sample of silver ore was found to contain 0.045 % silver by mass. How many mg of 
silver can be recovered 170.0 kg of ore? 
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Show All Work To Receive Credit! Conversion factors and prefixes: 

G = 109, M = 106, k = 103, c = 10-2, m = 10-3, µ = 10-6, n = 10-9 , p = 10-12, 2.54 cm= 1 in, 1 km= 0.6215 mi, 
12 in = 1 ft, 5280 ft= 1 mile, 3 feet= 1 yd, 60 sec = 1 min, 1 hr= 60 min, 4 quarts = 1 gal, 2 pints = 1 quart 

1. (9 Pts) Perform each of the following conversions. You must show the complete setup. 

a. Convert 437 Gg to mg. 4 31 GJ: U) 7 ' I'/ 
43 .., 1"'c,J\..- 4 37 XI O rm J-r X. JO - , 

G 

b. Convert 333 -c 333 'XI{) () .3 

c. Convert 8 miles/hr to km per minute. o .. 

2. (6 Pts) Assume each of following numbers are measurements. Perform the indicated operations 
and then report the answer with the proper number of significant figures. 

,;;,~ -h, t-~,~ P-\..1\lR 

a. 902.44 cm + 3fcm + 125.2 c: = /060 • ~L..( f O ~ cm 

~ 
¥~\ .~ 

b. 100.5 cm x 12.100 cm x 18.145 cm= 

c. (23.2 + 95) 
-----= 

1§1 s+ep 
;t,3,. ;t 

;l10_f s-§J~ 
I 1g. 2- -

(13.2 X 2.53) ,9~ -
"" 11;_, ,~ (/ ,, X ~5_3) 

3. (5 Pts) A sign measures 22 inches by 45 inches. Determine its area in square cm (cm2) (you 
may ignore significant figures). 

5. (5 Pts) A sample of silver ore was found to contain 0.035 % silver by mass. How many mg of 
silver can be recovered 1070.0 kg of ore? 

3 
1070,O XJ 0 Jf>L 3 7'i -oo A J A 
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